Gr2 Mod2 Topic D Quiz

Find the missing length to make 1 meter.

1. 20cm + =100 cm
2. 35cm + =100 cm
3. 63cm+ =100 cm

Use the centimeter ruler to answer the following questions.
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4. LineAis cm long. 5. LineBis cm long.
6. Together, Lines A and B measure cm.
7. LineBis cm (longer/shorter) than Line A.
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a. LineAis cm long. b. LineBis cm long.

c. Together, Lines A and B measure cm.



d. LineAis cm (longer/shorter) than Line B.



9. The length of a picture is 47 centimeters. The width of
the picture is 20 centimeters. How many more
centimeters is the length than the width?

Solve each word problem below. Show your work.

10. Lindsey has a candy bar that is 48 cm long. Jennd's candy bar is 12 cm shorter than Lindsey's
candy bar.
Step 1: Find the length of Jennd's candy bar.
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How long is Jenna's candy bar?

Step 2: Find the length of both candy bars together.







